FU'VUI.IN Metal Industrial Co., Ltd.

3-E

40 =18 R BRIR

000000 ¢

om

DN8~DN50 (1/4”~2")

= 30 3 4

B 4

i

W 1SO5211°F- 4
T 1% i /7:1000psi PN63 bar

i FH R S Y8 I -20 to 180°C

HEHEE
LR i s T2 35 A] HI1360° g 4 1

4-ON PCD@M
L1 T
( x o,
W —
NO AR PART NAME ##E  MATERIAL — — —
1 AL BODY ASTM A351 GR.CF8M
2 25 CAP ASTM A351 GR.CF8M
3 BRH SEAT PTFE (12)
4 HER BALL ASTMA351 GR.CF8M | (1) E %
5 kil STEM S.8316 ‘l.‘l gﬂ;{h
6 K Fr END SEALS PTFE ® e ; ‘
7 NEHA THRUST WASHR PTFE @/ Mé‘)\i_
8 i GLAND S.S 304 / \
9 mEs HANDLE S.S 304 @/ S
10 PUf%kE  HANDLE WASHER S.S 304 ®/ //Kj
TR EEY WASHER S.S 304 @ = a
[T
12 T HANDLE NUT S.S 304 %;/ L |
13 i HANDLE SLEEVE VINYL GRIP ®/
14 O STEM PACKINGS PTFE
15 B LOCKING PLATE S.S 304 L
PORT
TYPE ! 2 ° : SIZE d | A/ B | C D|DI|H|F | L | M N
3 '@z @2 1Dz "o 1/4" 11.0 | 109 | 59 | 120 | 90 |1334 | 627 | 290 | 572 | 36.0 | M5*0.8
L2 192 1@2 162 1@2 3/8" 11.0 | 109 | 59 | 120 | 90 |133.4 | 627 | 29.0 | 57.2 | 36.0 | M5%0.8
1/2" 125 | 10.9 | 59 12.0 | 9.0 |133.4 | 64.7 | 345 | 66.0 | 36.0 | M5*0.8
3/4" 16.0 | 114 | 6.4 120 | 9.0 |1334 | 787 | 39.7 | 858 | 36.0 | M5*0.8
TYPZORT 1 2 3 4 1" 200 | 114 | 64 | 120 | 90 |133.4 | 712 | 460 | 885 | 42.0 | M5%0.8
3 1@2 1®2 1-1/4" 254 | 237 | 82 | 150 | 11.0 | 1785 | 90.2 | 51.7 | 103.4 | 50.0 | M6*1.0
1-1/2" 318 | 237 | 82 15.0 | 11.0 |1785 | 93.7 | 61.0 | 111.1 | 50.0 | M6*1.0
T4 1@2 1@2 1@2 1@2 " 381 | 237 | 82 | 150 | 11.0 | 1785 | 98.2 | 714 |136.4 | 50.0 | M6*1.0

http://www.zsfuyuan.com/




	页面 1

